DIFFERENTIAL
EQUATIONS
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Question 1 (*%)
Find a general solution of the differential equation
d* y

?+5%+6y =12(x+ex).

y=Ae > +Be +e'+ 2x—%

Question 2 (*%)

By using a suitable substitution find a general solution of the differential equation

d
5%, k-

dx

giving the answer in the form y= f(x).

y=Ae'—x-1

Created by T. Madas



Created by T. Madas

Question 3 (*%)
Solve the differential equation

dy . _ ) 1 _
d—s1nx+2ycosx—4s1n XCcosXx, y(gir)—

7
X 4

Give the answer in the form y = f(x).

y= sin? x + 4cosec>x

Question 4 (*%)

Find a general solution of the differential equation

2
d—§+6ﬂ+13y:13x2—x+22.
dx dx

y=e " (Acos2x+ Bsin 2x)+ x* — x+2
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Question 5 (*%)

d—ysinx =sinxsin2x+ ycosx.
X

Given that y =% at x = % , find the exact value of y at x= %

1+4/2
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Question 6 (*%)
Find a solution of the differential equation
d? y

7—3%+2y=105inx,
X X

subject to the boundary conditions y =6 and % =5 at x=0.
X

y=2e"+e* +3cosx+sinx

Question 7 (¥%)

dy _ e Y y
x£+2y—9x(x +1) , with y==5at = .

Show that the solution of the above differential equation is

y =%(x3+1)%.
X
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Question 8 (*%)
Find a solution of the differential equation
d* y

F—3%+2y =20sin2x
X X

9

subject to the boundary conditions y =1 and % =-5 at x=0.

X

y=23cos2x—sin2x—e

2x_ex
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Question 9 (¥%)

Q:x+2y,with yz—% at x=0.

dx

By using a suitable substitution, show that the solution of the differential equation is

y=—2(2x+1).

proof

Question 10  (*%)

Find the general solution of the following differential equation.

2
4t2%+4t%—x:0.
¢ t

(-

=

x=At2+Bt
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Question 11 (*%)
Find a general solution of the differential equation
d’y  dy

X
?+E—2y—6e .

Question 12 (*%)
Show that if y=a at r =0, the solution of the differential equation

where a and @ are positive constants, can be written as

y=acosar.

proof
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Question 13 (*%)
Find a general solution of the differential equation
d’y dy

— —E—2y=12(e“—e‘2)‘).

y=(A+4x)e* +Be* =3¢
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Question 14 (*%)

20_grams of salt are dissolved into a beaker containing 1 litre of a certain chemical.

The mass of salt, M grams, which remains undissolved ¢ seconds later, is modelled
by the differential equation

am oM
dt 20—t

+1=0,r20.

Show clearly that

M (10—7)(20—1).

31
10

proof
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Question 15 (*%)

2
€Y y=sin2x, with y=0,

dy _
dx? 0

T
at x=—.

2
Show that a solution of the above differential equation is

y :gcosx(l—sinx) .

proof
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Question 16 (**+)

Show that a general solution of the differential equation

5ﬂ=2y2—7y+3
dx

is given by

ye Ae"-3
24e*—1"

where A is an arbitrary constant.

proof
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Question 17 (**+)
d? y

74‘%—2)) :66_2x,
X

with y =3 andﬂz—Z at x=0.
dx

Show that the solution of the above differential equation is
y=2e"+(1-2x)e ™.

proof
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Question 18 (**+)

Find the general solution of the following differential equation.

2
4t2d—2y+4tﬂ

+y=0.
dt dt Y

y :Pcos[ln\/;]+Psin[ln\/;]

‘‘‘‘‘‘‘‘‘

Question 19  (**+)
Find a general solution of the differential equation
d’y . dy

F—zkd—‘i'kzyzi, k>0.
X X

y :AeIQC+Bxe]‘7‘x+L2
4k
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Question 20 (**+)

Solve the differential equation

2
ﬂ:z_(zj >0
dx x ’ ’

subject to the condition y=1 at x=1.
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Question 21  (**+)

dy 12x+7
22T y)=1.
dx 6y—Tx

Use a method involving partial differentiation to show that the solution of the above
differential equation can be written as

(ax+by)(cx+dy)=10,

where a, b, ¢ and d are integers to be found.

(3x=y)(2x+3y)=k
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Question 22 (**+)

Find the solution of the differential equation

2
d—§+Q=2x+3,
dx” dx

dy

subject to the conditions y=2, P =-5at x=0.
X

y=x*+x—4+6¢"

Question 23  (**+)

Find the general solution of the following differential equation.

dy . dW .
— 42—+ 2w =0.
dx* dx’

v =Acos Ax+ Bsin/1x|
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Question 24 (**+)

Find a solution of the differential equation

2
d—§+2@+5y=34coszx,
dx dx

subject to the boundary conditions y =18 and % =0 at x=0.
X

y :2(8e"“+1)c0s2x+8sm2x
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Question 25 (**+)

Q: (4x+ y)(x+ y) >0

dx x2

a) Use a suitable substitution to show that the above differential equation can be
transformed to

dv P
—=(v+2).
xdx (v+2)

b) Hence find the general solution of the original differential equation, giving the
answer in the form y = f (x) ;

¢) Use the boundary condition y=-1 at x =1, to show that a specific solution of
the original differential equation is

@ -
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Question 26 (**+)

The curve C has a local minimum at the origin and satisfies the differential equation

2
d—§+4ﬂ+8y:32x2.
dx dx

Find an equation for C.

y=¢” (sin 2x+cost)+(2x—1)2
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Question 27 (**+)

Show that a general solution of the differential equation

S I
dx

is given by
y =lln[2e_x (x2 +1)+ K}
2 9
where K is an arbitrary constant.

proof
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Question 28 (**+)

2
%+9x+125in3t:0, 120,
t

with x=1, ﬂzz at t=0.
dt

a) Show that a solution of the differential equation is

x=(2t+1)cos3t.
b) Sketch the graph of x.

proof
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Question 29 (**+)

By using a suitable substitution, solve the differential equation

d
xy—y=x2+y2, x>0,

dx

subject to the boundary condition y=1 at x=1.

y =x° (1+21nx)
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Question 30 (**+)

2
d—g+4ﬂ+4y:16+32e2x,
dx dx

with y=8 andﬂzO at x=0.
dx

Show that the solution of the above differential equation is
y=8 cosh’ x .

proof
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Question 31 (**+)
dy

x=Z =1y 41, x>0, with y=0at x=2.
dx

Show that the solution of the above differential equation is

proof
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Question 32 (**+)

2
d—g—Zkﬂ+k2y =12xe", k>0
dx dx

a) Find a general solution of the differential equation given that y = Pxlel,

where P is a constant, is part of the solution.

b) Given further that y =1, % =0 at x =0 show that
X

y:ekx(2x3—kx+1).

Toe
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Question 33 (**+)

By using a suitable substitution, or otherwise, solve the differential equation

d
—y=x2+2xy+y2,
dx

subject to the condition y(0)=0.

y=—x+tanx
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Question 34 (**+)

Show that the solution of the differential equation

2
d—§—8@+16y=24e4x,
dx dx

. o d :
subject to the boundary conditions y =-1, d_y =—4 at x=0, can be written as
x

y=(12:-1)e*".

proof
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Question 35 (**+)

d )
d_y + ky =cos3x, k is a non zero constant.
X

By finding a complimentary function and a particular integral, or otherwise, find the
general of the above differential equation.

—X
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Question 36 (**+)

By using a suitable substitution, solve the differential equation

dy_x+y’

, x>0,
dx x2

subject to the condition y=—1 at x=1.
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Question 37 (**+)

Given that z= f(x) and y =g(x) satisfy the following differential equations

£+2z:e_2x and ﬂ+2y:z,
dx dx

a) Find 7 in the form z = f(x)

&,
X

b) Express y in the form y = g(x), given further thatat x=0, y=1,

o= (x+C)e | fy=(La +2x+1)e
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Question 38 (**+)

lﬂ=1+2)cyz, y>0.

y dx

o 1 b . .
a) Show that the substitution z=— transforms the above differential equation

y
into the new differential equation

£+2z =—4x.
dx

b) Hence find the general solution of the original differential equation, giving the

answer in the form y? = f (x).

C Aet—2x+1
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Question 39 (**%)

2
d—g— D gy—ge
dx dx

a) Find a solution of the differential equation given that y =1, ? =0at x=0.
X

b) Sketch the graphof y.
The sketch must include ...

e the coordinates of any points where the graph meets the coordinate
axes.

e the coordinates of any stationary points of the curve.

e clear indications of how the graph looks for large positive or negative
values of x.

y=e (24" - 3x+1)
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Question 40 (**%)

d
ex—y+y2=xy2, x>0, y>0
dx

Show that the solution of the above differential equation subjectto y =e at x=1, is
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Question 41  (¥%%)

2 2
dx d.

dx* X

Find the general solution of the above differential equation by using the
transformation equation ¢ = \/; .

Give the answer in the form y= f(x).

y= (Aezx+ Bxe? )2
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Question 42 (**%)

A curve C, with equation y = f (x), passes through the points with coordinates (1,1)

and (2,k), where k is a constant.

Given further that the equation of C satisfies the differential equation

x2ﬂ+xy(x+3):1,
dx

determine the exact value of k.

e+l
8e
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Question 43 (**%)

A curve C, with equation y = f (x), meets the y axis the point (0,1).
It is further given that the equation of C satisfies the differential equation

ﬂzx—Zy.

dx
a) Determine an equation of C.

b) Sketch the graph of C.

The graph must include in exact simplified form the coordinates of the
stationary point of the curve and the equation of its asymptote.
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Question 44 (**%)

A curve y= f(x) satisfies the differential equation

IS S
dx (x—1)(x+2)

, y>1,x>-1

a) Solve the differential equation to show that
1n(y—5)+%x2 +4x—2In(x+1)=C.

When x=0, y=2.

b) Show further that
2 Alx
y=1+(x+1)"e 2

proof
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Question 45 (**%)

ﬂ+1— > , x>0.

de a0 (x242)(4a2 +3)

Given that yzllnl at x=1, show that the solution of the above differential

276
equation can be written as

1. (4x*+3
y=—TIn 5 .
2x | 2x°+4

proof
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Question 46 (**%)

2 2.2
dx Xy
. .. 1
Given the boundary condition y(1)= 5 show that
2_,6_1,2
y X

proof

Created by T. Madas



Created by T. Madas

Question 47  (¥%%)

The differential equation

2

xd—§+2ﬂz3x, x#0,
dx dx
. . y 4 3 dy 1
is to be solved subject to the boundary conditions y =—, d_ = 5 at x=1.
x

. d ) ) ;
a) Show that the substitution v = d—y, transforms the above differential equation
X

into

dv 2v
e T o B
dx - x

3.

b) Hence find the solution of the original differential equation, giving the answer
in the form y = f(x).

1, 1
=—| x"+—+1
; 2( x j
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Question 48  (**%)

Solve the differential equation

dy _ 2xy+06x
dx 4y3_x2’

subject to the boundary condition y=1 at x=1.

Created by T. Madas

x2y+3x2—y4=3
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Question 49 (**%)

By using a suitable substitution, solve the differential equation

Q_x3+y3
= —,

dx Xy

subject to the condition y=1 at x=1.

y?=x(3Inx+1)
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Question 50 (**%)

=

(1—x2)ﬂ+y:(l—x2)(l—x) , —l<x<l.

dx

Given that y =

Srs

at x = % , show that the solution of the above differential equation

can be written as

y=§ (l—xz)(1+x).

, |proof

' (v—f)% ta = C\—fﬁ(\ﬂ)il = Y= %UHOU*X)%
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Question 51  (¥%%)

By using a suitable substitution, solve the differential equation

d
2x2d—y:x2+y2, x>0,
X

subject to the condition. y(1)=0.
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Question 52 (**%)

The general point P lies on the curve with equation 'y = f(x).

The gradient of the curve at P is 2 more than the gradient of the straight line
segment OP .

Given further that the curve passes through Q(1,2), express y in terms of x.

y=2x(1+Inx)
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Question 53 (**%)

By using a suitable substitution, solve the differential equation

subject to the condition y(4)=7.

The final answer may not involve natural logarithms.

=<

)+tan(%):%x(l+\/§)

SeC (
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Question 54  (¥%%)

The curve C has equation y= f(x) and satisfies the differential equation

2
xzd—;j— xQ—Zy(2x2—l)=3x3ex, x#0
dx dx
. r y 3 dy 1
is to be solved subject to the boundary conditions y = 5 I = > at x=1.
X

a) Show that the substitution y = xv, where v is a function of x transforms the
above differential equation into

?;
d—;—4v:3ex.
dx

It is further given that C meets the x axis at x=1In2 and has a finite value for y as
x gets infinitely negatively large.

b) Express the equation of C in the form y= f(x).
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Question 55  (¥%%)

ﬂ:l—ﬁ,yzo,y;tl.
dx

Find the solution of the above differential equation subject to the condition y =0 at

x=0, giving the answer in the form x=f(y).

-
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Question 56 (**%)

Solve the differential equation

2dy 2
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Question 57  (¥%*%¥)

Find a general solution of the following differential equation

dy y(y2—3x2+1)
dx x(x2—3y2—1) '

Xy (xz - y2 - 1) = constant

U= Py +y
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Question 58  (*¥*%¥)

2
xzd_;’_ x@—4y=9x8.
dx dx

Determine the solution of the above differential equation subject to the boundary
conditions

28 d 20 GONY
T /_x%’v W=a® we e gmd g2 | 0 GANRRAL
n= A
n= A
@/SSOuE A SOUTTIL OF THE folm 3= o T

@R ING londimong =1, 9= § | BB

Y= '\£+ Bat s L )
{ A Y =
on . A . 3 < \
oo Rl S LN

® T e tive A Sowlon
[ IR S Y
=t
Y= L “Tx‘i\\:ﬂ‘“ P
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Question 59 (**%)
d
xyd—yz(x—y)2 +xy, y(1)=0.
X

Show that the solution of the above differential equation is

y
(x—y)er=1.

proof
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Question 60 (**%)

Solve the differential equation

ﬂ:(9x+4y+1)2, y(O)=—
dx

Give the answer in the form y = f(x).

1
i

y:

1_9

4 4

x+%tan6x
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Question 61 (**%)

Solve the differential equation

x%-f-y :4x2y2, y(%) =2.

Question 62  (¥*%)

Find the solution of the following differential equation

dy _ 1—3x2y
dx ¥ +2y

subject to the boundary condition y =1 at x=1.

x3y+y2—x:1
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Question 63 (**%)
Solve the differential equation
dy

—+y=4x?, y(0)=
dx

6~

Give the answer in the form y* = f(x).
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Question 64 (**%)

Solve the differential equation
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Question 65 (**%)

By using a suitable substitution, solve the differential equation

xyﬂ+2y2=x, y(1)=0.
dx

Give the answer in the form y* = f(x).
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Question 67 (**%)
Use a suitable substitution to solve the differential equation
dy — x+y

& a3y YOt

2In|x+y=2|=3-x-3y

Question 68 (**%)

x2

d r
x—y+3y=xe

, x>0.
dx

Show clearly that the general solution of the above differential equation can be
written in the form

2
2yx° + (x2 + 1)e_x = constant .

proof
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Question 69 (***)

Solve the following differential equation

ﬂ_3x+2y
dx 3y=2x’

y(1)=3.

Give the final answer in the form F (x,y)=12

3yt —dxy—3x* =12
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Question 70  (¥*%¥)
Find the general solution of the following differential equation
2
29y 5 B

F+2xd——n(n+1)y=0.
X X

Question 71 (**%)

Use the substitution y=e* to solve the differential equation

xﬂ+ ylny=2xy, y(l)zez.
dx
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Question 72 (¥*%¥)

Solve the differential equation

dy _ 4>~ y(2ezx+1)

b

dx e+ x

subject to the boundary condition y=2 at x=0.
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Question 73 (**%)

Use the substitution z =sin y to solve the differential equation

xﬂcosy—sinyzlenx, y(1)=0

dx

subject to the condition y=0 at x=1.

siny:lenx—x2+x
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Question 74  (¥**4)

The differential equation

(x3+1)d—2y—3x2@=2—4x3,

dx? dx
is to be solved subject to the boundary conditions y =0, % =4 at x=0.
X

o d ) :
Use the substitution uzd—y—Zx, where u is a function of x, to show that the
X

solution of the above differential equation is

y=x4+x2+4x.

, |proof

QRING: Trie SBSTIROTION Gun)
ol s
= %[%; U +2x
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Question 75  (¥*¥*4)

Solve the differential equation

2
xd—§+2@_o,
dx dx
dy

subject to the boundary conditions y =2, . =—latx=1.
X
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Question 76 (¥*%+)

dy 2y
dx  x

Given that y(1)=1, show that

y =
3x+2x°

=y4, x>0, y>0.

proof
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Question 77 (¥**+)

A curve with equation y=f(x) passes through the origin and satisfies the

differential equation

3
2y(1+x2)%+xy2 :(1+x2)2.

By finding a suitable integrating factor, or otherwise, show that

) x> +3x
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Question 78 (¥**+)

Given that if x=¢' and y= f(x), show clearly that ...

b

a) .. ——
) dx dt

b) ... xzd_zyzd_zy_ﬂ.
dx> o di? dt

The following differential equation is to be solved

2
xzd—g—Sxﬂ+4y =2Ilnx
dx dx
subject to the boundary conditions y = 1 ,ﬂ 3 4 at x=1.
2 dx 2

¢) Use the substitution x=¢’ to solve the above differential equation.

y =%+%(2x2+1)lnx
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Question 79 (¥**+)

Solve the differential equation

DLW 3 0)=1.
dx 1+x

Give the answer in the form y* = f(x).

) 1
y =
(1+x2)(1—2arctan x)
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Question 80 (¥**+)

The function y = f (x) satisfies the differential equation

dy .2 T
—sin“| x+— |=2x +1),
o ( 6) y(y+1)

subject to the condition y=1 at x=0.

Find the exact value of y when x= %

Created by T. Madas



Created by T. Madas

Question 81 (¥**+)

Solve the differential equation

%=y(1+xy4), y(0)=1.
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Question 82  (¥***4)

d*y dy
Xx—=+(6x+2)—=+9xy=27x—-6y.
dx2 ( )dx Xy Yy

Use the substitution u = xy , where u is a function of x, to find a general solution of
the above differential equation.

A _ z 2
y="e4Be " +3-2
x x
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Question 83  (¥**4)

Find a general solution for the following differential equation

(2x+ y)ﬂ+x=0.
dx

The final answer must not contain natural logarithms.

X

y+x=Ae"™

Created by T. Madas




Created by T. Madas
Question 84 (¥**+)
a) By using the substitution z = x>+ y2 , solve the following differential equation
2xyﬂ+ y2 =2x—3x%,
dx
subject to the condition y=1 at x=1.

b) Verify the answer to part (a) by using the substitution z = y2 to solve the
same differential equation and subject to the same condition.

5 BA-3 = -l DETRNRG © THE O.DE
2y - Fanm - Bk ARk G-y
R LK—LZ///'// 4% - £ = 203
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1
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Question 85 (¥**+)

A curve with equation y= f(x) passes through the point with coordinates (0,1) and

satisfies the differential equation

y2ﬂ+ vl =4e”.
dx

By finding a suitable integrating factor, or otherwise, show that
¥ =3e"—2e 7,

proof
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Question 86  (***4+)

d’y . d
—y—2—ytanx—ysec4x=0.

dx® dx
The above differential equation is to be solved by a substitution.

a) If r=tanx show that ...

d

i. ..—yzﬂseczx
dx dt
d*y d? d

.o ... —gz—gsec4x+2—yse02xtanx
dx dt dt

b) Use the results obtained in part (a) to find a general solution of the differential
equation in the form y= f(x).
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Question 87 (¥**+)

Show clearly that the substitution z =sin x, transforms the differential equation

d? dy .
—ycosx+—ysmx—2ycos3 x =2cos> x,

dx’® dx

into the differential equation

2
%—u:z(l—zz)

proof
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Question 88 (***+)

d’ d
x3—§—2x2—y—4xy =5.
dx dx
Find the solution of the above differential equation subject to the boundary conditions

y:4,ﬂ:20 at x=0.
dx

y= 5x* —l(1+lnx)
X
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Question 89  (¥**4)

Find a general solution of the following differential equation

dy cosxcosy+ sin? x

dx  sinxsiny+cos’ y

1

sin x cos y—Z(sin 2x+sin2y)+=(x—y)=constant

=
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Question 90  (¥**4)

By using the substitution z = d_y , or otherwise, solve the differential equation
X

2

(x2 +1)d—§+2xﬂ: 6x2+2,
dx dx
. o dy
subject to the conditions x=0, y=2, —=1

X

y = x? + 2 +arctan x
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Question 91 (¥**%)

A curve C passes through the point (1,1) and satisfies the differential equation

dy_y_x

—, x>0, y>0,
dx x 4y3 Y

subject to the condition y=1 at x=1.

a) Find an equation of C by using the substitution z= y4.

b) Find an equation of C by using the substitution v = £

Give the answer in the form y* = f(x).
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Question 92 (F**%)

Find the general solution of the following differential equation

d4y+gd3y_id2y+ 1 dy

——==0.
at xdd xrd* X dx

y:Alnx+Bx2+Cx21nx+D
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Question 93  (¥**%)

Use the substitution z = \/; , Where y=f (x) , to solve the differential equation

d*y 1 dyjz dy
EY L D) 5D oy -0,
dx? y(dx dx Y

subject to the boundary conditions y =4 ,% =44 at x=0.
X

Give the answer in the form y = f(x).

y=9e% —6e +e
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Question 94 (F**%)

Created by T. Madas

Solve the differential equation
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Question 95 (F**%)

Solve the differential equation

dy x+y-3
dx “‘x+y-5’
subject to the condition y:% at x:%.

x+y—-4=e"?
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Question 96 (***%)

dy x+y+3
YT 3 (0)=0.
dx x+y-1

Show that the solution of the above differential equation is

y—x—=2In(x+y+1)=0.

proof
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Question 97  (¥**%F)

2 1
2xd—§+(1—3x2jﬂ+y:0.
dx dx

The above differential equation is to be solved by a substitution.

1
a) Given that y= f(x) and =x2 , show clearly that ...

dy _1dy
“dx  2tdt

Wl e = —— - ——— 4§
b) Hence show further that the differential equation

2 1
2x—d g+(1—3x2jﬂ+y:0,
dx dx

can be transformed to the differential equation

d*y . dy
4Y 39 19y-0,
a? dr

¢) Find a general solution of the original differential equation, giving the answer
in the form y= f(x).

= Ae\/;+ Bez‘/;

A

o t-x (% -5
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Question 98 (F**%)

)
2d°y. dy (2 5
X' —5+x——(x"+n")y=0.

The above differential equation is known as modified Bessel’s Equation.

Use the Frobenius method to show that the general solution of this differential

equation, for n = 1

j,ls
_1 .
y=x 2[Acoshx+ Bsinhx].

proof
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Question 99  (***%¥)

Use the Frobenius method to find a general solution, as an infinite series, for the
following differential equation

2
4x2%—4x%+(3—4x2)y20.
X X

Give the final answer in terms of elementary functions.

y=+/x(Acosh x+ Bsinhx)
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Question 100  (¥*%%¥)

Show clearly that the substitution z = y*, where y = f(x); transforms the differential

equation

&y

dx?

into the differential equation

2
+l(ﬂj —5Q+2y =0,

y\dx dx

2
d—§—5£+4z:0
dx dx

proof
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Question 101 (**%%)

The curve with equation y = f(x) has the line y =1 as an asymptote and satisfies the

differential equation

x3%—x=xy+l, x#0.

X

Solve the above differential equation, giving the solution in the form y = f(x).
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Question 102  (**%%¥)

1
Given that if x=r2 , where y=f(x), show clearly that

1
a) Q:ZtZQ.
dx dt
2 2
b) Q:L].IQ_F Q

d*drt dt
The following differential equation is to be solved

2

d”y 2 \dy 3. _1n.5
x?—(Sx +1)E+12x y=12x",

. . 10 d?
subject to the boundary conditions y = ?O , Y10 at x=0.

dx?

1
¢) Show further that the substitution x=¢2, where y=f (x) , transforms the

above differential equation into the differential equation

d*y  dy
L4 43y =3,
ar a

d) Show that a solution of the original differential equation is

2
+x2+4

3x2 x
=¢e +c - -
Y 3

proof
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Question 103  (**%%)

The curve with equation y = f(x) satisfies

2d%y
dx*

X +5xﬂ+13y=0,x>0.
dx

By using the substitution x =¢’, or otherwise, determine an equation for y = f (x).,

given further that y =1 and ? =—2at x=1.
X

cos(3lnx
RRCERETE
X
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Question 104  (**%%¥)

d*y _d
—g—Z—ycotx+2ycosec2x =2cos x—2cos’ x.
dx dx

Use the substitution y =zsinx, where z is a function of x, to solve the above

. . . . J d V4
differential equation subject to the boundary conditions y =1, d_y =0 at x= A
X
Give the answer in the form
y =asin® x+b(1-sinx)sin2x,
where a and b are constants to be found.
¥ 1
a=1|,|b= 3
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Question 105  (¥*%%¥)

1
Use the substitution x=z2 , where y= f(x), to find a general solution of the above

differential equation.
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Question 106  (**%%¥)

Use variation of parameters to determine the specific solution of the ‘following
differential equation

2
xzd—§—7xﬂ+l6y=16lnx,
dx

dx
given further that yz%, %: 2 at x=1.
X
y=%+(l+x4)lnx
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Question 107  (¥%%%4)

Solve the differential equation

aly_l—xy+)czy2 0
a——xz_y); , x>0,

subject to the condition y(1)=0.

2xy—xzy2 =%
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Question 108  (**%¥4)

The curve C, has gradient % at the point with coordinates (ln 2,%) , and satisfies the

differential relationship

dzy_ dy 1
?—(1 ZY)dx, y<3.

Find an equation for C, giving the answer in the form y= f(x).
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Question 109 (***%4)

By writing @ = p and seeking a suitable factorization find a general solution for the

non linear differential equation

2
dx dx|  xy '

Give the solution in the form F(x,y)G(x,y)=0.

(xy+A)(x2—y2+B)=0
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Question 110  (*##*%4)

Find a general solution for the differential equation

dy _y-x°

, x#0.
dx x+yx2

Created by T. Madas

ye™ =Cx
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Question 111  (¥##*4)

The curve C, has a stationary point at (O, 2) and satisfies the differential relationship

d’y 4
—;; = —3 5 ¥ * 0 .
dx y
a) Given further that % >0 along C, determine a simplified expression for the
X

Cartesian equation of C.

b) Verify by differentiation the answer to part (a).
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Question 112 (¥**%4)

Solve the differential equation

2
Do DDz, y>0,
dx  x+yx“+x’y

J=1.

subject to the condition y(

o=

232y Iny =2xy+1
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Question 113 (¥##*4)

The curve C, has a stationary point at (0,4) and satisfies the differential equation

d*y 2
—-=—, y#0
At y?
a) Given further that % >0 along C, determine a simplified expression for the
X

Cartesian equation of C, giving the answer in the form x= f ().

b) Verify by differentiation the answer to part (a).

x= 4arcosh(%\/;)+\/y2 -4y
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Question 114  (**#%*4)

The curve C with Cartesian equation f (x, y) =0, satisfies the differential equation

(1-y)y"=(2-») ().

It is further given that y(0)=0 and y'(0)=1

a) Determine a simplified expression for the Cartesian equation of C.

b) Verify by differentiation the answer to part (a).

x=ye ”
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Question 115 (****4)

dy 3=yl gy s
dx X+y+1 > :

Solve the differential equation to show that

(y—x)(y+3x+2)=7.
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Question 116  (*#*%4)

By writing @ = p and seeking a suitable factorization find a general solution for the

non linear differential equation

%
dy dy — >
| +y===x"4xy.
(dxj ydx Y

Give the solution in the form F (x,y)G(x,y)=0.

(2y—x2+A)(x+y—l+Be_x)=0
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Question 117  (¥***4)

dy_ 2x+5y+3
dx  4x+y-3°

y(1) =1
Solve the differential equation to show that
(y—2)c+3)2 =2(x+Yy).

proof
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Question 118 (k)

The curve with equation y = f(x) satisfies the differential equation

2

d”y 2 dy
Y _6yiray, Do,
5 y y dx

dx
If y=3, ? =12 at x= —%ln 3, solve the differential equation to show that
X

y= cosech? x .

proof
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Question 119 (k)

The curve with equation y = f(x) satisfies the differential equation

d*y dy)2
2V Y| g
dx> (dx Y

Given further that the curve has a stationary point at (%,%) , solve the differential

equation to show that

proof
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Question 120

(*****)

Created by T. Madas

The curve C, has gradient 1 at the origin and satisfies the differential relationship

d
TJ=2y="2(3y-2), y<i.

dx 2

Find an equation for C, giving the answer in the form y= f(x).

sin x

1+sin x

= (secx —tan x)tan x

@
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Question 121 (ki)

The curve C, has gradient % at the point with coordinates (1,%) and further satisfies

the differential relationship

d2y 2 dy
222+ (2y+ 1) (y=1)""2=0, y=0.
Y3 (2y+1)(y )dx y

Find an equation for C, giving the answer in the form y= f(x).
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Question 122 (ki)
Find a general solution of the following differential equation.
dy

Y | odr
:_x—+e X'
Y dx

|:|, ()’+AX+B)(y—xlnx+Cx):0

e TwO SepheaTe ©.D.€ T SOE

M AU WY 2 T

\ ey
— = AxrR

Lru-adoo
® L+y-aq=c

—ade -9 =x
ax L.
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